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HIH @ 20254E7THEH (1) ~7H6H (H)
No. 10 ZF 50m k=T _
E-L T 32. 11
B K £ T B PE KR icE
1w Y Aoy J FERiE 11/ 4 32.76 10#% ( 0.63)
2 KA FIE HEHZA4 2 10/ 4 33.48 10#% ( 0.60)
3 AR LE WHMHS C =1 11/ 3 34.69 8f% ( 0.68)
4 ks BARE I SSHT 2 10/ 5 34. 91 9% ( 0.73)
5 Al = A B J S SR il 9/ 5 35. 31 8f% (0.78)
6 R H, ] SSH¥ 3 9/ 4 35.58 8#% ( 0.69)
T AH< D HIT72AS S /N6 10/ 2 36. 88 9%k ( 0.70)
8 Kvi H1 OFB572F 13 9/ 3 37. 21 % (0.71)
9 il 4 HT72ASS 11/ 6 37.39 5#%% ( 0.65)
10 “FEFAEOL S FEFHPY H 2 11/ 2 37. 62 7#%  (0.78)
11 e ] 4SS 12 9/ 6 37.82 6% ( 0.76)
12 /NI B ] SSHAT NG 1L/ T 37.88 9%k ( 0.67)
13 Il b3k WIS C 2 10/ 7 37.94 % (0.71)
14 b & WHTHS C 13 9/ 2 38.02 65% ( 0.66)
15 FEEEONNY IWHHSC =1 10/ 3 38.13 5%k ( 0.71)
16 T L8 AL R 3 10/ 6 38.15 65% ( 0.70)
17 KHFEOS J S SIABK 111/ 1 38.37 St (0.73)
18 =R HAE BEEE =3 9/ 7 38.89 4%%  ( 0.67)
19 JiyE =1 HEH A4 /N6 10/ 1 39. 07 8t ( 0.65)
20 KH Hi= CIEARIN /N6 11/ 8 40. 10 7#%  (0.83)
21 ZRH B3 HT7HESS A6 11/ 9 40. 26 %% ( 0.82)
22 Rl i HIT7AHS S /N6 10/ 0 40. 27 7#%  ( 0.65)
23 BH R ~_2Z28S'S =210/ 9 40. 39 3f%k  (0.75)
24 ‘HH HH B — MABK /N5 10/ 8 40. 85 8#% ( 0.69)
25 fitly  EAK HEIS C 13 9/ 8 41.27 28% ( 0.80)
26 BIHSL &7 R =2 11/ 0 41. 61 2% ( 0.64)
27 Bk FERn VAV NI =3 8/ 3 41. 81 L% ( 0.76)
28 S g OFBH7=£ 0 NG 8/ 4 42.00 65% ( 0.71)
29 Whler R MBSH/N =7 /N5 8/ 0 42. 85 #%  (0.71)
30 AR 34 JEAS S 1 8/ 1 42.93 4%%  ( 0.76)
31 MAR A T A ~SC 1 9/ 0 43. 22 4%%  ( 0.76)
32 B ¥ A rv o HIE /N5 8/ 5 43. 30 T (0.72)
33 /NG iRk Hhy7SC NG 8/ 6 43. 31 5%%  ( 0.70)
34 O HA N 2RSS NG 9/ 9 43. 34 5#% ( 0.65)
35 BT EMWL VAN 1 8/ 9 43. 41 2% (0.70)
36 (kS HEy7SC NG 8/ 2 43.57 4% ( 0.67)
37 1l HER YA N /N4 8/ 7 43. 62 65% ( 0.66)
38 [l HERA 7T A ~SC NG 8/ 8 43. 68 3tk (0.76)
39 mH %A WIS C /N6 7/ 2 43. 86 3#%  ( 0.69)
40 HH S R =2 7/ 4 44. 46 ( 0.70)
41 b HIX WHEMHSC NG 5/ 6 45. 01 4%%  ( 0.71)
42 1R BiBR S S /M 7/ 5 45. 59 5% ( 0.29)
OPN fh=  SE% WHTMS C X3 11/ 5 35.17 7% (0.67)
OPN #&H &3 WHHSC 2 7/ 0 42.83 3% (0.74)
OPN 3H f&H 4 @ = 9/ 1 43.78 ( 0.74)
OPN 74 s S S Ml 7/ 1 44. 77 3#%  ( 0.80)
OPN [LI AT, 5 IWHEMSC NG 6/ 2 44. 99 4%%  ( 0.71)
OPN HH  meid HIT7ASS NG 7/ 1 45. 43 2%%  ( 0.79)
OPN HH  3Zwf B — MARK ! 7/ 3 45. 48 %% ( 0.79)
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No. 10 Z&F 50m k= FiE .

E=3 k1 32. 11
B K £ & PE KR icE
OPN Il Lo AER DU H /NG 6/ 3 45. 58 5%k ( 0.76)
OPN H LB R4 WEMSC NG 7/ 6 45. 61 3f%  (0.73)
OPN /NfF B o2E/SS Ml 6/ 8 45. 68 28% (0.72)
OPN KH &7 HT72ASS /INB 6/ 9 46.18 4% ( 0.72)
OPN LA HAE R YZYAY N NS 6/ 1 46. 24 4%%  ( 0.64)
OPN Rk f&%k ZE/SS /NG 6/ 6 46. 37 4% ( 0.80)
OPN a4y #PL o2E/SS /N5 6/ 5 46. 51 4%%  ( 0.79)
OPN Bl f&s YA N NG 7/ 9 46. 76 3tk (0.76)
OPN =87 5K ZE/SS NG 6/ 0 46. 95 2% (0.73)
OPN i H i H7H eSS /N4 7/ 8 47.18 4%%  ( 0.72)
OPN [l 55 A S S /N3 5/ 5 47. 36 ok ( 0.74)
OPN V&Il &% 7Y ESS ! 3/ 4 47. 85 6% ( 0.65)
OPN 35 S ~N2Z8S'S /N3 5/ 0 47.87 6% ( 0.70)
OPN & WEF AL R NG 5/ 4 47. 94 2#%  ( 0.64)
OPN /INEr i Hw7Y eSS /N4 6/ 7 48. 30 58k (0.73)
OPN /i F§H R YZYAV /N7 NG 5/ 3 49.02 % (0.84)
OPN Hkf  ZHiE WHEMHSC NG 5/ T 49. 24 1% (0.76)
OPN J\H #kZ eIy NINfiE /N5 5/ 1 49. 59 2#%  ( 0.80)
OPN #HH =% H7HYESS ! 3/ 3 49. 81 4% ( 0.66)
OPN #&JI\ TR 7 S SHPk /N4 5/ 8 50.17 4% ( 0.76)
OPN -5 A4 OFf&H7-F v /NG 4/ 7 50. 64 ( 0.72)
OPN /MK BEAE WHTMS C H12 5/ 2 50. 74 ( 0.79)
OPN il 24 R YZYAY N ! 4/ 9 50. 77 4% ( 0.89)
OPN F&iE %5+ VYAV NI /N3 5/ 9 51.12 4%%  ( 0.66)
OPN Rifr %% A h~ 4R /N3 4/ 5 52. 01 65% ( 0.66)
OPN TH FH&E a% /S S /NG 3/ 5 52.08 ( 0.81)
OPN 8K Z D ] S S#Pk /INB 4/ 4 52. 51 ( 0.81)
OPN BfHZE ~ B ~N2ZRS' S /NG 3/ 2 52.53 ( 0.72)
OPN Kfg FkA: ~R2Z/RS'S /NG 3/ 6 52.53 ( 0.74)
OPN #AH A& ~NZRS S NG 4/ 8 53.23 ( 0.79)
OPN FA#F A3 OFF572F 0 /N3 3/ 8 53.92 5#% ( 0.88)
OPN SEHp A4t OFF7=%£ v N 4/ 3 53.95 ( 1.00)
OPN HEHFEAAE OFB72F 0 /N4 3/ 1 53.97 2#% ( 0.70)
OPN [hfs A% S S 7IN2 4/ 1 54.07 5%k ( 0.64)
OPN W8Il 'k OFF572F V /N4 4/ 6 54.37 2%% (0.97)
OPN #AH  Bo% ~N 2RSS NG 4/ 0 55.18 ( 0.82)
OPN B BEIA ~N 2RSS /N3 2/ 4 55. 28 Lfk  (0.71)
OPN PHH fH% IWHHS C NG 3/ 9 57.73 ( 0.66)
OPN &)1l #kx YA NI /N3 2/ 6 57.77 28%  ( 0.46)
OPN & =] IWEHS C 13 2/ 3 58.55 ( 0.84)
OPN ¥& 1 #jiA. 1S Sk /N3 4/ 2 58.59 ( 0.92)
OPN JIWE L s v — Mafk /N3 3/ 0 58.77 2% ( 0.42)
OPN f£= % A M5 A b~ L /N4 3/ 7 58. 86 ( 0.35)
OPN {Fik A& AN AR /N4 2/ 1 59.28 ( 0.97)
OPN HEoHBix OFF572F 0 /N3 2/ 7 59. 83 L% ( 0.25)
OPN TH #aH a%/SS /N4 1/ 4 1:00.52 ( 0.94)
OPN #AH #&3E ~N2ZRS'S ! 1/6 1:01.29 ( 0.78)
OPN 1£)1| &% ~NZRS S /N2 2/ 2 1:03.36 ( 0.78)
OPN fFik Z=3f AR 2 KA /N2 1/ 5 1:08.40 ( 0.74)
OPN <FH ERkAr v — MMafk /N3 1/ 3 1:09.61 ( 0.44)
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OPN EH #jF APV VNI 7IN2 2/ 8 1:10.35 ( 0.80)
OPN PEH  #EAR WHMHSC /N3 /1 1:14.20 ( 0.68)
OPN =Ky ~N2ZRS'S /N3 1/ 2 1:14.39 ( 0.75)
OPN dbAf yride ~N 288 S /N2 1/ 7 1:18.63 ( 0.71)
OPN &R ZE{K IWHEHMS C NG 2/ 5 FHE ( )
OPN #HH HiE A b~ 40 /N6 6/ 4 ZEIE ( )
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